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Version 1
DO NOT BEGIN WORKING UNTIL THE INSTRUCTOR TELLS YOU TO DO SO. 

READ THESE INSTRUCTIONS FIRST.

You have 50 minutes to complete the exam. The exam consists of 10 binary choice and 20 multiple choice questions. Each binary choice question is worth 2 points and each multiple choice question is worth 4 points for a total of 100 points. We reserve the right to deduct 3 points from your final score for failure to provide your name, student ID number, discussion section you’ve been attending and test version number correctly on your scantron. Please answer all questions on the scantron sheet with a #2 pencil. 

No cell phones, calculators, or formula sheets are allowed. 
PICK THE BEST ANSWER FOR EACH QUESTION. 

How to fill in the scantron sheet and other information: 

1. Print your last name, first name, and middle initial in the spaces marked "Last Name," "First Name," and "MI." Fill in the corresponding bubbles below. 

2. Print your student ID number in the space marked "Identification Number." Fill in the bubbles. 

3. Write the number of the discussion section you’ve been attending under "Special Codes" spaces ABC, and fill in the bubbles. You can find the discussion numbers below on this page. 

4. Write the version number of your exam booklet under "Special Codes" space D, and fill in the bubble. The version number is on the top of this page. 

5. If there is an error on the exam or you do not understand something, make a note on your exam booklet and the issue will be addressed AFTER the examination is complete. No questions regarding the exam can be addressed while the exam is being administered. 

6. When you are finished, please get up quietly and bring your scantron sheet and this exam booklet to the place indicated by the instructors. 
 Discussion sections are as follows:

John Gentry

330  12:05 F 215 Ingraham

333  2:25 W 52 Bascom

335  1:20 F 4308 Soc Sci

340  8:50 Tu 6240 Soc Sci

Kaitlin Janusz

328 3:30 W 55 Bascom
334 2:25 W 222 Ingraham

336 7:45 Th 6310 Soc Sci

338 7:45 Tu 6310 Soc Sci

341 3:30 Th 6228 Soc Sci

Hon Ho Kwok

327 3:30 W 58 Bascom 

332 8:50 F 6102 Soc Sci

Saad Quayyum

329 12:05 F 23 Ingraham

331 8:50 F 6203 Soc Sci

337 8:50 Th 6224 Soc Sci

339 8:50 Tu 116 Ingraham
Work Sheet

Binary Choices

1. If the unemployment rate is 15% and there are 15 million unemployed people, then there are
a) 85 million employed people.

b) 70 million employed people.

2. Injections in an economy are:
a.) income earned, but not spent, in the domestic economy.

b.) spending from sources other than households in a given year.
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3. In the above diagram, the aggregate production function of Iraq shifts from F1 to F2. Which of the following could cause such a shift in the aggregate production function?

a.) A decrease in physical capital or human capital
b.) A decrease in the labor force due to the war
4. The minimum wage is a price floor in the labor market.  The basic effect on employment is that the imposition of an effective minimum wage

a) Increases the employment level.

b) Increases the unemployment level.


[image: image2]
5. In the above diagram, when the economy moves from L1 to L2,

a.) Marginal productivity of labor increases.

b.) Labor productivity decreases.
6. The nominal GDP in country A was the same in 2006 and 2007. The GDP deflator in country A was higher in 2007 than in 2006. The real GDP in 2007 is 

a.) higher than the real GDP in 2006.

b.) lower that the real GDP is 2006.

7. Zimbabwe’s nominal GDP grew by 20 percent in 2007. We can infer that more goods were being produced in Zimbabwe in 2007 than in 2006.

a.)True

b.) False
8. The aggregate production function in Keynes’ Island exhibits diminishing marginal returns to labor.  Investment in Keynes' Island is lower than depreciation. Holding everything else constant, labor productivity in Keynes’s island will go:

a.) Up

b.) Down

9. Which of the following statements about government transfer payments is true?
a.) Transfer payments are included in government spending.

b.) Transfer payments are not included in government spending because they are included in consumer spending and saving already.
10. The aggregate production function in Treasure Island exhibits diminishing returns to labor. There are 2000 workers employed in Treasure Island. 500 of these workers decide to migrate to Madison. Holding everything else constant, after this labor migration labor productivity in Treasure Island will:

a.) Increase.

b.) Decrease.

Multiple Choices

11. Stan retired from his job as a chemical engineer at Monsanto. He now works part time for 15 hours a week as a Walmart greeter. Stan is
a) Frictionally unemployed.
b) Not in the labor force.

c) Employed.

d) Structurally unemployed.

12. If the prices of every good in the economy increase by 5 percent, then
a.) Nominal GDP must increase by at least 5 percent.

b.) Nominal GDP must increase by less than 5 percent. 

c.) Nominal GDP must decrease by 5 percent.

d.) We do not know whether nominal GDP decreases, increases or stays the same.
Use the following information for the next two questions:

Country A produces only bananas, pineapples and t-shirts. The following table contains the price of each product in 2006 and 2007 and the quantity produced in 2007.

	
	Price in 2006 (in dollars)
	Price in 2007 (in dollars)
	Quantity in 2006
	Quantity in 2007

	Bananas
	2
	3
	
	100

	Pineapples
	3
	6
	
	200

	T-shirts
	10
	30
	
	10


13. What is the Real GDP for country A in 2007 in 2006 dollars?
a.) $600

b.) $800

c.) $900

d.) $1800

14. What is the growth rate in the GDP deflator between 2007 and 2006?
a.) 50 percent

b.) 100 percent
c.) 200 percent

d.) There is not enough information available to answer this question.

15. Rapid technological advancement in Treasure Island causes people to migrate there. According to the aggregate production model, labor productivity in Treasure Island after the technological advancement
a.) Will increase.

b.) Will decrease.

c.) Will stay the same.

d.) May increase, decrease or stay the same.
16. The following is information about Liberia.
Labor force (16 years or older)


8000 people
Number of employed workers with full time job
3500 people
Number of employed workers with part time job
3000 people
What is the unemployment rate of Liberia?
a) 37.5%

b) 81.25%

c) 18.75%

d) 123.1%
17. Real GDP grew by 10 percent in China in 2005. Given that the prices of all goods in the Chinese economy had increased in 2005, the nominal GDP must have grown by 

a.) more than 10 percent.

b.) less than 10 percent.

c.) 10 percent.

d.) We do not have enough information to know whether Nominal GDP grew faster, slower or at the same rate as real GDP.

18. Suppose there is an increase in population so that the size of the labor force increases. Furthermore, suppose the production function exhibits diminishing marginal productivity of labor. If there is no change in technology or in the level of capital, then this increase in population will cause 

a.) the equilibrium quantity of labor and the output level to decrease while the equilibrium wage and labor productivity increase.

b.) the equilibrium quantity of labor and the output level to increase while the equilibrium wage and labor productivity decrease.

c.) the equilibrium quantity of labor, wage, output level, and labor productivity to increase.

d.) the equilibrium quantity of labor, wage, output level, and labor productivity to decrease.
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19. The above graph shows the aggregate production function of an economy with respect to capital. The equilibrium quantity of capital decreases from K1 to K2 because of some changes in the capital market. Furthermore, suppose there is no change in the labor market. Labor productivity in this economy, given this change in capital, 

a.) Increases.

b.) Decreases.

c.) Remains unchanged.

d.) Could increase, decrease or remain unchanged.

20. The natural rate of unemployment refers to 
a) The rate of cyclical unemployment.

b) The sum of the frictional and structural unemployment rates.

c) The sum of the underemployed workers and the discouraged workers.

d) The sum of the cyclical, frictional, and structural unemployment rates.

21. Which of the following types of unemployment are taken into account in the Classical Model?

a.) Frictional unemployment

b.) Structural unemployment

c.) Cyclical unemployment

d.) Frictional and structural unemployment
Use the following table to answer the next question.

	
	Real GDP
	Labor Force ( number of people)

	2005
	$10,000
	100

	2006
	
	

	2007
	$30,000
	300


22. The labor force grew by 50 percent in 2006. The labor productivity in 2006 was the same as the labor productivity in 2005. What is the real GDP in 2006?

a.) $10,000

b.) $15,000

c.) $20,000

d.) $30,000
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23. In the above diagram, LRAS is the long run aggregate supply curve, SRAS 1 and SRAS 2 are the short run aggregate supply curves, and AD is the aggregate demand curve. The initial short run aggregate supply curve is SRAS 1. Suppose there is a negative supply shock due to an increase in the price of oil. Which of the following will happen to bring the economy back to a long-run macroeconomic equilibrium?

a.) Consumers and firms will change their expectations so that the AD will shift to the right in the short run.

b.) There will be an increase in consumers’ wealth so that the AD will shift to the right in the short run.

c.) There will be a decrease in nominal wages so that the SRAS will shift to the right.

d.) There will be an increase in nominal wages so that the SRAS will shift to the right.

24. Suppose an economy is in long run equilibrium. According to the Classical Model, a decrease in the government deficit will

a.) Have no effect on the level of real GDP.

b.) Have no effect on the real interest rate.

c.) (a) and (b) are both true statements.

d.) (a) and (b) are both false statements.

25. The assumption that markets clear in the classical model means that:
a.) The price in every market is fixed, and the demand and supply curves in each market will shift so that the quantities supplied and demanded are equal at that particular price.

b.) Subsidies are paid by the government to producers and consumers so that the quantity demanded and supplied are equal.

c.) International trade is not allowed.
d.) The prices in all markets adjust so that quantities supplied and demanded are equal in each market.

26. Consider the loanable funds market of an economy. Suppose there is an increase in the level of transfer payments made by the government, holding everything else constant. This will result in 

a.) an increase in the equilibrium interest rate and a decrease in the equilibrium level of private investment.

b.) an increase in the equilibrium interest rate and the equilibrium level of private investment.

c.) a decrease in the equilibrium interest rate and an increase in the equilibrium level of private investment.

d.) a decrease in the equilibrium interest rate and the equilibrium level of private investment.

Answer the following two questions using the information from the chart below:

	Real GDP or Output
	$5,000,000

	Consumer Spending
	$1,500,000

	Total Taxes
	$500,000

	Transfer Payments
	$375,000

	Government Spending
	$500,000


27. What is the amount of private saving in this closed economy?

a.) $3,500,000

b.) $3,375,000

c.) $3,000,000

d.) $3,125,000

28. What is the amount of national saving in this closed economy?

a.) $3,375,000

b.) $2,999,125

c.) $3,500,000

d.) $3,000,000
29. Consider the loanable funds market for an economy. Suppose there is an increase in capital inflow (an increase in the difference between imports and exports), holding everything else constant. This increase in the level of capital inflows will cause 
a.) the equilibrium interest rate to increase, while the equilibrium level of private investment decreases.

b.) the equilibrium interest rate and the equilibrium level of private investment to increase.

c.) the equilibrium interest rate to decrease, while the equilibrium level of private investment increases.

d.) the equilibrium interest rate to decrease, while the equilibrium level of private investment will increase only if the government is running a balanced budget. If the government does not run a balanced budget, then the equilibrium level of investment will decrease.
TURN PAGE: THERE IS ONE MORE QUESTION

30. Which of the following would not cause a shift to the short run aggregate supply curve?

a.) A sudden shortage of oil 

b.) Technological advancements which result in large increases in productivity

c.) Huge increases in government purchasing associated with a war such as WWII

d.) A huge storm destroys most of a nation’s food crops

Answers

1. a

2. b

3. a

4. b

5. a

6. b

7. b

8. b

9. b

10. a

11. c

12. d

13. c

14. b

15. d

16. c

17. a

18. b

19. b

20. b

21. d

22. b

23. c

24. a

25. d

26. a

27. b

28. d

29. c

30. c
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